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① For problem 1 we use this

theorem from class :
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I (c) Let c= Co tic , ,
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② Let 2- = Xtiy and

Zo = Xo ti yo .

Using the same
theorem that

we used
in problem I
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③ Same tactic as problem 2 .

let 2- =Xtiy and Zo -- Xotiy .

Then,

t.im#::E..xitTtio7i
VE ti limo

=
him ( x,g)

→ Home )

-

"'""←¥¥;¥÷i÷÷.n
= iffy ti

O

= ( Zo l .

Since lzigz.IE/=lZol
for all Zo

EE ,

171 is continuous
on
all of Q .



④ Suppose the given conditions of the

Problem
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⑤ Suppose that f : A -71C where A is an

open set .
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Let L=f( Zo ) # O .
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⑥ Let f : etc .
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Since f is continuous at
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